Algebra 2
Lesson U5 D8



When we solve equations graphically, we often create a system of equations. For example, one way to solve"
2 .

this equation X~ —2X —1 =X + 3 would be to put it in our calculator as ¥; = X~ — 2x -1

Y, =Xx+3

The solution to the equation would be the x-values of the points of
intersection. Use this graph to find the solution to the equation

x*=-2x-1=x+3,

X= -1 *x=H




Solving Systems of Equations

Your solution above is for the equation. What would your solution be
if you were asked to find the equation to the following system of

equations?

Find the solution to the system of equations graphically:

Use your calculator!

y=x"-2x-1
y—3=x

Where do these
graphs intersect?
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We can also solve systems of equations algebraically.

( 2
y=x" —-2x-1
Find the solution to the system of equations algebraically: x

We can use substitution!

\[: \/2-(9\/4"(:!#2\{ +(0 - | \=2-2 - -] @
\{:\(7'..8\);4“‘1 J_'X'-‘”f"?’:q
|

) ~ “-} ™, :U
=0 (V- %) (V / Need to find the y-values too!
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Solve algebraically each system of equations below. Remember: The solution to a system is a set of ordered
pairs (X, ¥). So once you find the x-values, you must also find their partner y values.

rxl —4x+3 = y They both equal Y!!I! Set them equal to each
]) < other and solve the quadratic!
y=x-1 5
¥ -Hx4+3 = x|
Let’s set it to zero and Factor! 2

x —Sx kY o
(y-H)(x-1) =0
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Use substitution!
K (x+DN) =S
KT g x T kx4t (=S
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(x=3) +(y+2)" =16

3 h
) 2x+2y:10 Need to solve for x or y, then use

substitution!
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%) The army of a country launches a test rocket from a base. The rocket's height # can be

determined by the formula h(f) = - -1-]-'632 + 30, where { is the time in seconds. From a

satellite in space, a laser is fired at the rocket to try to destroy it. If the laser is fired at the
correct time along the line y = -2&+ 15, is it possible for the laser to intercept the rocket?
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Practice answers for you to check
vour work!

. {y=x2_4x+3 5 (4,3), (\, 00 ¢

y=x-1

) {y=0.25f—2x+3 % (2, O\E

y+x=2

y=-3x>—4x+7 2 4 Jia E
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Practice answers for you to check
your work!



